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[> HEFD 43.96cm

14 x 3.14 = 43.96( cm)
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9] 4ol : 10+ 2 = 5(cm)
=

Ho] 1 5x5x3.14 = 78.5(cm?)




[> HEFD 15cm

94.2 +3.14 + 2 = 15(cm)
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dole & em Y7

Mool B8 : 20 x 3.14 = 62.8(cm)
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> HEehl 141.3cm?

B

=

HHZ]E = 94.2 = (3.14x 2) = 15cm

o] Wol=15x 15 x 3.14 = 706.5( cm?)
wetA 554 F A T stue] HWole=
706.5 + 5 = 141.3(cm?)
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> M. 12.56cm

A(7h 9 WAZ Aol [ Jemetn sha

[ Ix[ ]x3.14=254.34

kA P 9 x 2 x 3.14 = 56.52(cm)

A (W) 9§21 59 dolE acmetal 5HA
AXAX3.14=379.94 AX A =121
A=11

kA P 11 x 2 x 3.14 = 69.08( cm)

HatA £ go] 93] 4 Foi
69.08 — 56.52 = 12.56( cm) At
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(FAFS dol) = (A5 Zol)=2, (dF) = (A8 2
°])x3.14
(% cng o)) = ({289 ZAol) x (HPZ]—E—PJ Zol) x3.14

& A &9] 4o|7} 16( cm) o2
AFE 16 x 3.14 = 50.24( m)?:ME’r
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> e 314cm?

(RELT)= (879 1)

—10x2x3.14 + 2 = 31.4(cm)
(9] Hol) = (A2 el yo))

= (89 WAF) x (879 )

=10 x 31.4 = 314( cm?)
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(Lref wel) + (w2l deol) O (714 |el)

(LFe) Wol) + (che] el

1 1
:6><6><3.14><§+4.5><4.5><3.14x§
= 56.52 + 31.7925 = 88.3125( cm?)

1
(7Fe] WOl) = 7.5 x 7.5 x 3.14 x 5 = 88.3125(cm)

whebd (ko] Wol) + (el Wel) = (ko] Wel) duiet.
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:1><1><3.14><§><2+3><2

=3.14+ 6 = 9.14(cm?)
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[> HEFD 16cm

50.24 + 3.14 = 16( cm)
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HE D 40%

(1% 7+ A=) =50 x 3.14 = 157(cm) = 1.57(m)
2.983(km) = 2983(m)
— 2983 + 1.57 = 1900 %

=318 40%
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AXAX3.14 =785
AXA="785=+3.14

AXA=25

A =5(cm)

(A59] Zol)=5x2=10(cm)
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18 x 12 = 216( cm?)




